Precalculus Name ‘\"‘ A
Review 1.1-1.5 Period “Date

1. Graph: (x— 12+ (y+3)?=9 (% (1,-3)
R > ’ T
2. Write the equation of the circle with the given information. — |~

a) center: (—4,7) and radius: 8 ]
(x e+ (U1 = LY \\ A AnE S
b) endpoints of diameter: (—2,—5) and (—2,9) X
(X424 (w-2)"= 49 R.7
C ~ (-2 }rﬁ;‘
c) center (—1,—4) and solution point (4, 8)
Y 4 i ‘ 't XA1) A [‘H*U\)‘ ?‘I"‘q
[ g
=13
3. Write the equation of the line with the given information.
a) Through the point (3, —5) with slope%
Y= =58 Sl <a) 3y +15 = 2(x-3) BipEa K - 2|
Wts= Z (X-3) B VIR = Ee- =L w1 &
b) Through points (—3,—7) and (1, 6)
M= =J-b =-13 _ 12 e e L N L = 12X #1\L
-2-1 4G ; o3 : \2 W
Uy -24= \3x -\3 Y= %+ k—lk
c) Parallel to the line —4x + 16y = 10 and passes through the point (-2, 9)
loy=4x +l0 = VY
=4 x+10 \ %:%{X—k\j_*
\j'—ﬁg To \j——q: /‘—\CX-\")) e
i \
:,\qx.\—5/8 %—-/‘—\X'\'/'l"'q
d) Perpendicular to the line —4x + 16y = 10 and passes through the point (=2, 9)
A= -4 -9 = -4 x+2)
Y-4 MW= ~Hxq ) 'ﬁ%
W= -Yx- 19

e) Perpendicular to theliney = §7-x =g

= — 1
k= i 5 \ﬂ:’gx-&S ‘



4. Find the distance between the 2 points (—8,—1) and (-3, —6)

A= ‘51153’+(m\++@§1

Ad= 080 = 53 « 7,07
5. Find the slope between the 2 points (2, 4) and (8; —6)
= H A (fm, =10 - -5
R - ~ o E)

6. Solve for A. Given: m = %between the 2 points (4, 6) and (2, —4)

2 - brrd AA-Y= 70
5 —
A2 2A =Y
A 5]

7. Determine whether the function is odd, even or neither. Describe its symmetry

2_ 2
2 f=2=f (x5 we

osed
Y% et

Symwim etva  ori %\ 0
~d L.

b) f(x) = 3x3—9x%+4x+8

(- xs“l qc-xs 44 -8 T
ER- VA STIVEFUEY Noe \ ey
) glx)=--
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S R Ne ey
S H = X

d) h(x) = x*—16x?

= O ey
A even
=% -\
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8. Find the length of side b.

" 16 b= Vle*-e?
- b g3

b & 12.856



9. Determine the quadrant(s) in which (x, y) could be located, given:

LR

X )

a) x =-5andy<0 T__E OQ . bv ) I
XY | X RN

b) x>0andy>0 I

10. Find the y — intercept for the given function.
x+6
= - Otk —
YT ] 4222 =L =6 (0,0)

Yo—1) l

11. Find the zeros.
flx) =7x% —25x — 12

O = (7 + 35X = 4D

X‘—"’% X o=\

i

12. Find the average rate of change from x; to x, for the given function (x) = x3 —2x2+1 .

a) x; =—2tox, = -3 A = —\E)*‘AU(U\ e Q“q - 20)
(-2 3—45\) "L AYD \

(-3 -4
b) x,=3tox, =5

- -
(%)mﬁ m = ggwﬁizlﬁi = 33
-5 -
(3, T)

13. Find the domain of the given functions.

7 D*CQ_)OCQ e K2 2

a) f)=+Vx—-2+8 __%___

D ID= BB L i ec (-oo UL, 20

x+7
Xz -7

o ho=EF x2S Dixzs,x# e Us,a)\U (4, e0)



14. Find the maximum and minimum values of the given function.
flx) =x3~2x*—2x+8

Moxt (- ,2¢7, 8. Gk

Ming: ( |.720 3.7513

15. Find the x and y intercept(s).

a) x*—4x%—45 x-wk s (3,03 (3,00
(X ==X *5) Sf\r'ﬁ? (5,-45)
CX o U= (X A5
b) x?+ 12x — 64 . .
x—=int: (~1b, 0 (4,0)
C X A1) X-1)

\é—\\;\’\': (O,'lo"{s

_ —2x+7, x<-1
16. Given: f(x) = {(x —2)2-3, x>-1

a) f(=3)= —2(2>+1 =1\3
b) f(=1) = (-\-25-2 = b

0 f2)= (2-2)Y"-2% = -3

17. Determine the intervals over which the function is increasing, decreasing or constant.

constart (- (o,"-D

e
<

weyease (- ‘-\)'\3 U4 )/‘703

de crvense C*‘L\‘ ’?73 U G\\. \'\3




